
DEFE16I9E A1D C203E7I7I9E BIDDI1G LEADS AND SIGNALS ; B F CON:EN8ION CARD
O:ERCALLS (SX]PI: RIWTSRWIW: 1 / 2 LIZIP; RISTIRMRK) OPENING LEADS S8=LE
NSVmal WX]le, ZaVied acc XS ZYl, (4)5+. Can be lighX VeSTening Lead In Partner’s Suit CA8EGOR=: GREEN
UCB: gSSd 3+ caVd VaiWe, jYmT cYe = mi\ed VaiWe SYiX 4Xh, 2nd fVSm 3+ bad 3Vd, 5Xh. AXX if WYTTSVXed NCBO: SCO8LAND
2N SZeV M: gSSd 3+ (SV 4+ if UCB aZailable) caVd VaiWe NT 4Xh, 2nd fVSm 3+ bad 4Xh, 2nd. aXX if WYTTSVXed PLA=ERS: BVian SPEARS - BaVneX SHENKIN
Ne[ WYiXW Sn 1L/2L(SZeV 1\) aVe NF. FiX jYmTW b] PH SYbWeU AXXiXYde AXXiXYde

OXheV:
LEADS S=S8EM S9MMAR=

1N8 O:ERCALL (2RH/4XL LMZI; RIWTSRWIW; RISTIRMRK) Lead VW. SYiX VW. NT
2RH/4XL LMZI: 15-18; S]WXem Sn Ace AK, A AK, A 5 caVd majSVW, minSVW 3+ caVdW, 2/1
RISTIRMRK: 11-16: 2C aWk Ɓ 2D min. 2M/N mediYm. 3L ma\ King KQ AK, KQ, UB/CT (REV) TVanWfeV VeWTSnWeW XS 1C
2C-2D-3C VeTeaX WXa]man QYeen QJ KQ, QJ 2D = [eak Snl] mYlXi. 2M = M+minSV [eak
J9MP O:ERCALLS (SX]PI; RIWTSRWIW; 9RYWYEP N8) Jack AJ10, KJ10, J10 AJ10, KJ10, J10 1N8: NV Z VUL 10-13 1WX/2nd. 10-14 3Vd, 15-17 4Xh al[a]W
1-WYMXIV: Weak (5-10), 6+ caVdW , InXeVmediaXe [hen V Z NV 10 H109, 109(\) H109, 10\, 109\ VaViable 11-14/15-17 SXheV[iWe
2NT ReWTSnWe XS 2-leZel jYmT SZeVcall: aWking 9 109\ ([iXh gSSd W[iXch ), 9\ 9\, (109\ [iXh gSSd W[iXch)
9RYWYEP N8: lS[eWX 2 Ynbid WYiXW, 5-5 + Hi-X S\, \S\ S\\ \\S S\, \S\ (S\\) 2 OZIV 1 RIWTSRWIW: FG
4XL WIEX: SYiX = InXeVmediaXe. 2N = 19-21 bal LS-X \S\ (S\\) H\S H\\S(+) \S\ (S\\) H\S, H\\S SPECIAL BIDS 8HA8 MA= REQ9IRE DEFENCE
DIREC8 & J9MP C9E BIDS (SX]PI; RIWTSRWI; RISTIR) SIGNALS IN ORDER OF PRIORI8=
2-cYe (minSV): 5-5 +, bSXh majSVW, [ide Vanging, nSX TSSV if V PaVXneVƅW lead DeclaVeVƅW lead DiWcaVdW 1\-1M-1N-? 2C = ART, INV SV XS Tla] in 2D.
OZeV 1C: 2C naXYVal. 2D majSVW. 1 ReZeVWe AXXiXYde SYiX TVefeVence ReZeVWe AXXiXYde 1\-1M-1N-? 2D = ART, FG; 3C = XS Tla].
OZeV WhSVX D: 2D naXYVal. 2H majSVW SYiX 2 SSme SP/NEU SSme SP/NEU SP/NEU 1C 1S 1N 2H= 5+C inZ/ 2S = 5+D FG
2-cYe (maj.): 5-5 +, OM+m [ide Vange, nSX TSSV if ZYl 3 1C 1D= 4+H/ 1H = 4+S/ 1S = nS majSV/ 1N = 10-12
2N cSnWXVYcXiZe WYiX enUYiV]. 3C P/C 1 ReZeVWe AXXiXYde SmiXh ReZeVWe aXXiXYde
JYmT cYe aWkW fSV WXST fSV NT NT 2 ReZeVWe CSYnX SYiX TVefeVence SP/NEU 1M-3C = inZ+ VaiWe Sf STeneVW majSV
:S. N8 (ZW. SXVSRK/;IEO; RISTIRMRK;PH) 3 SYiX PVefeVence NEU
X: PenalX]; 2C: MajSVW; 2D: [eak 6+ M; SignalW (inclYding TVYmTW): UDCA, SYiX TVefeVence in XVYmTW,(TeXeV

ma] be lSSking fSV VYff), WXd SmiXh, WSme WYiX-TVefeVence [hen
fSllS[ing XS declaVeV

TVanWfeV LebenWShl afXeV 1N (2D/H/S)

2M: 5+M STening ZalYeW, 2NT: big 2-WYiXeV; 3\: naXYVal LebenWShl afXeV 1X (2M) P (P) X
PH: X = eiXheV m SV bSXh majSVW. 2C C+ majSV. 2D D + majSV DO9BLES 3NT STeneV = H SV S 8-9.5 XVickW
:S.PRE-EMP8S (DSYFPIW; CYI-FMHW; JYQTW; N8 BMHW) 8AKEO98 DO9BLES (SX]PI; RIWTSRWIW; RISTIRMRK) TVanWfeVW afXeV 1N (3X)
DBL: T/S XhVY 4H (2N VeWTSnWe=TYTTeX XS 3C). EmThaWiWe majSVW, can be lighX [iXh claWWic WhaTe SV in VeSTening
AcXiSn DBL SZeV 4S. 3-cYe = 5OM 5m nSX GF
2M/3M 4M gSSd 4OM/5m bid NOW lS[eWX WYiX Wign Sff.
OZeV 4H 4N 0 ace S/T. 5C 1 ace, S/T. 5D 2 aceW S/T SPECIAL FORCING PASS SEQ9ENCES
OZeV 4S 4N 0/1 ace S/T, 5D 2 aceW S/T SPECIAL, AR8IFICIAL & COMPE8I8I:E DBLS/RDLS When [e haZe WhS[n FG ZalYeW; [hen STTSnenXW
2NT: 15-18; 3NT XS Tla]; 4 minSV = minSV + a majSV GF SYTTSVX DBL and RDBL belS[ 2M (gYaVanXeeW 7-caVd ƻX) NSX WacViƻce
OZeV 2N: 3C TYTTeX, 3D 5+OM, CYe WhSVXage, 3S 5+C, 4C 5+D mandaXSV] IMPOR8AN8 NO8ES

:S. AR8IFICIAL S8RONG OPENINGS- M.I. 1♣ SV 2♣
VW. 1C: X=majSVW, 1N=minSVW 1m-(1H)-X = 4+ WTadeW. 1S = denieW 4S. 1N = 10-12
VW. 2C: X=majSVW, 2N=minSVW 1C-(1D)-X=4+H. 1H=4+S. 1S=denieW 4M. 1N=10-12

O:ER OPPONEN8Sƅ 8AKEO98 DO9BLE 1N (X)[Ten] XX = 5-caVd WYiX. 2 an] = XhaX WYiX TlYW higheV WYiX;
RedSYble: (9)10+ ([iXh \\ SV [SVWe SZeV 1M STeneV, 1N (X)[nSX Ten] XX = ZalYeW, SXheVW = W]WXem Sn
fYVXheV X aVe TenalX] b] eiXheV Tla]eV
1M (X) ? 1N-> 2M-1 aVe XVanWfeVW; 1M (X) 3C = mi\ed VaiWe PS=CHICS: RaVe
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DESCRIP8ION RESPONSES S9BSEQ9EN8 AC8ION COMPE8I8I:E & PASSED
HAND BIDDING

1♣ 3 4S 3+C 1D=4+H,1H=4+S,1S=nS majSV, 1NT = 10-12 1C-1\-1H/S/N-? 2-[a] CB/3C XS Tla] NS JYmT VeWTSnWe = FG Sn
ma] be lighX acc XS ZYl/TSW 2C=4+C FG, nS M, 3D/H/S=PRE, 1C-2D-2H aWkW -naXYVal VeWTSnWe 2L/[eak Sn 3L

2D=5+C 10-12 OR 2N inZiXe OR 6+D FG 1\-1]-2N-4-WYiX TRF (Sn afXeV cSmT) FiX-jYmT b] PH, 4m FiX-jYmT
2M=6+M FG, 2N=NAT FG, 3C=5-8(9) 1m-1M-2N-3C-3D-3M=XS Tl Wee nSXe C

1♦ 3 4H 3+D (Snl] 3D [hen 4432) 1M = 4+M, 1NT = 6-10, 2C = FG, 3H/S=PRE 1m-1M-2N-3C-3D-4C=6M Wlam XV]
ma] be lighX acc XS ZYl/TSW 2D=4+D FG,nS M, 2H=5+D 10-12 OR 1D-2H-2S aWkW -naXYVal VeWTSnWeW

2N INV OR 6+H FG OR 6+C FG, 2S 6+S GF 1D/H/S-1\-1N ? 2-[a] CB. 3C = XS Tla]
2N =NAT FG nS M, 3C=6+C INV; 3D=5-8(9 1m-1M-2N-3C-3C-3OM=5M+4m

1♥ 5 4S 5+H 1S = 4+S ( if Xhen 3H = FG), 1NT = 0-11(12) P-1M-2C = 3+M
P-1M-2D = 4+M

ma] be lighX acc XS ZYl/TSW 2C = 3+C FG, 2D = 5+D FG, 2H = 5-9, 1M (X) ? Xhen 1N-> 2M-1 = TRF
2S =6+S FG, 2N = 4+H 15+(SV eUYiZalenX),
3C = 3+H LIM+
3D =6+D inZ, 3H=4+H 5-8(9), 3S/4C/D=SPL

1♠ 5 4H 5+S 1NT = 0-11(12), 2C = 2+, 2H = 5+H FG
ma] be lighX acc XS ZYl/TSW 2S = 5-9, 2NT = 4+M 15+, 3C = limiX+, 3+S

3D = 6+D inZ. 3H =6+H inZ, 3S=4+S 5-8(9)
3N =gSSd PRE in S, 4C/D/H=SPL, <15

1NT 4H NV Z VUL 10-13 1WX/2nd, 2C = STAY (ma] nSX haZe majSV) 1N 2S 2N/3C 3D/M = C [iXh WhSVX D/M 2N TYTTeX > 3C if inXeVfeVence
10-14 3Vd, 15-17 4Xh 2D = H, 2H = S, 2S = C, 2N = D 1N 2Ved 2M 3OM = 6M [iXh S/S TVanWfeV lebenWShl
VaViable 11-14/15-17 SXheV[iWe 3C = 5-caVd WXa]man, 3D = 55minSVW FG, 1NT 2R 2M: 4C=BAL S/T, 4D=KC in M CYe=WhSVXage

3M = WhSVX M (13)(45), 4C = geVbeV 2C 2D 3M=4M 5+OM, 2C 2M 3OM=6M
[iXh S/S

TVanWfeVW SZeV 3L SZeVcallW

4D/H=TRF XS 4H/S, 4S=mild VaiWe 4N BAL 1N 2D 2H 2S = 5S 5H inZ+
2♣ YeW 0 4H 22+ Semi-Balanced 2D = Rela],, 2H=5+S, TSW, 2S = 6+C 2C 2D 2H = H SV WXVSng bal Ɓ 2S aWkW 2C (2an]) 2N = naXYVal TSW

An] FG TSW, 3C = 6+D TSW , 3D = 6+H TSW 2C 2D 3M = 4M lSngeV D 3C/D/H=TRF, 6+/gSSd 5-WYiX
3H/S/C/D = Wemi-WSlid S/C/D/H 2C 2D 2S 3C = WecSnd negaXiZe NOW 3S = Wemi-TSW+, 6+C
See nSXe B 3S b] eiXheV Wide nSn-fSVcing

2♦ YeW 0 Weak-Snl] mYlXi, 5+M 2H= T/c, 2S = G/T in H, 2N = aWk, 3m NF, 2N 3C=an] MIN, 3D=H ma\, 3H=S ma\, 2D 2N 3D 3H aWkW SPL
SXV deTendenX Sn ZYl/TSWiXiSn 3M/4H=P/C, 4C=TRF XS M, 4D=bid M, 2N 3S = 6H4S ma\, 3N=6S4H ma\ 2D 2N 3H 3S aWkW SPL

2♥ 5 Weak, 5H 5+m V 2S = T/P, 2N = aWk, 3C = T/c, 3D = G/Tn H, 2N 3C/D = naXYVal min
Weak, 5H 4+m NV 3S = 6+S INV 2N 3C 3H/S = ma\ [iXh C/D

2♠ 5 Weak, 5S 5+m V 2N = aWk, 3C = T/c, 3D = G/T in S, 2N 3C/D = naXYVal min
Weak, 5S 4+m NV 3H = 6+H INV 2N 3H/S = ma\ [iXh C/D

2NT 4H 20-21 Semi-Balanced 3C = TYTTeX, 3D/H = TRF; 3S = TYT 3N [iXh See NSXe [A]
minSV/minSVW Wlam XV], 4C =geVbeV,

Ma] inclYde SffWhaTe/WingleXSn 4D/H = TRF XS H/S, 4S = STR 4N BAL,
3X 6 - 0-11HCP, PRE 4C (4D if \=C) = TVe KC, 4H/S = naX 3C 3D 3H 3S = XS Tla]

ZaVieW dYe XS VUL/TSWiXiSn 3C 3D demandW 3H 3C 3D 3H 3N = P [iXh CA Wee nSXe D
3NT YeW LSng majSV, 8.5-9.5 XVickW 4C=S/T, 4D=BID MAJOR, 4H=P/C, 5m=ASK HIGH LE:EL BIDDING
4X (6) 7 0-11HCP, PRE 4C 4D=PRE KC, 4m 4M=T/P, 4H 4S=T/P RKCB 1430. OZeV e\clYWiSn KC 3041.P0D1 Ɓ DEPO ( abSZe XVYmT WYiX)
4NT YeW GSSd 5m bid CYe bid 1WX/2nd VSYnd cSnXVSlW eUYall]
5X (7)8 PRE 3NT = nSn-WeViSYW Wlam XV] in WSme MajSV aYcXiSnW, LAST TRAIN



SYTTPIQIRXEV] RSXIW

A - 2N8 GSRXMRYEXMSRW

2NT 3C 3D = denieW 2h 2S/3H 2S
2NT 3C 3N = 2S 2H SV 2S 3H
2NT 3C 3D 3H = denieW 4H,
2NT 3C 3D 3S = 4H
2NT 3C 3D 3N = 4S 4H, game Snl]
2NT 3C 3D 4N = 4S 4H, Wlam XV]
2NT 3D 3H/3H 3S = 3-caVd H/S NOW ne\X WXeT WhS[W WhSVXage Ɓ ne\X WXeT aWkW UTL
2NT 3D 3H 3N = balanced Wlam XV]
2NT 3D 3H 4C = 4C SV 4S Ɓ 4D aWkW UTL
2NT 3D 3H 4D = 4D
2NT 3D 3N 4H = Wlam XV], 6+H
2NT 3H 3S 3N = WhSVXage 4C aWkW UTL
2NT 3H 3S 4C = 4C SV 4H 4D aWkW UTL
2NT 3H 3S 4D = 4D
2NT 3H 3S 4H = balanced Wlam XV]
2NT 3H 3N 4S = Wlam XV], 6+S
2NT 3C 3D 4H = 5S5H, game Snl]

B-2C GSRXMRYEXMSRW

2C 2D 2H 3C/3D/3H/3S = Wemi-TSWiXiZe in D/H/S/C

C - 1\ 1] 2N8 GSRXMRYEXMSRW

1\ 1S 2NT 3C 3D 4H = 5S5H, game Snl]

D - 3C 3D 3H GSRXMRYEXMSRW

3C 3D 3H 4C = game XV]

D - 1C 1S 1N GSRXMRYEXMSRW

1C 1S 1N 2C 2D 2H = 4C 4D inZiXaXiSnal
2S = 5D 4C inZiXaXiSnal NOW 3H aWkW fSV H WhSVXage NO, YES

3S aWkW fSV S WhSVXage NO, YES
2N = 5D(332)
3C = 5C 5D inZiXaXiSnal NOW 3H aWkW fSV WhSVXage UTL
3D = inZ, 6+D
3M = WhSVX M, 6+D, GF



1C 1S 1N 2H = inZ, 5+C
2S = GF, 5+D

2N = aWkW
3C = 5D 4C NOW 3D aWkW WhSVXage NSne UTL
3D = 6+D, WhSVX C
3M = 5D 5C WhSVX M

1C 1S 1N 2D 2H = aWkW
2S = 4D 5C NOW 3C aWkW WhSVXage NSne UTL
2N = 4D 4C
3C = 5C(332)

E - 1M 2N GSRXMRYEXMSRW

1M-2N-? 3C = min. 3D aWkW fSV S/S
1M 2N 3C 3H/S/N= 15+ [/SPL UTL
1M 2N 3C 4C/D/H= 15+ [.ZSid UTL
1M 2N 3D=e\XVaW [iXh S/S
1M 2N 3H=e\XVaW [iXh 4-caVd WYiX
1M 2N 3S/3N=e\XVaW 6M/5M balanced
1M 2N 4m/H(afXeV1S)=e\XVaW 55

F - 3N 4C GSRXMRYEXMSRW

3N 4C 4D = gSSd hand [iXh H
4H = mild XV]
4S = 1 SV 4 KC
4N = KC
5C = 0 SV 3 KC eXc.

3N 4C 4N = KC in S
5H = lSng H WYiX, cYe-bid in S

in all auctions, 6M-1 by either player is merely transferring declarer if we haven’t already done so.


